BFAVSRA

Fi®)—V8 64 —LER/—TK

KEb—F AV 12V F /—TF

HH3F1A30R 1R SF
F3RY— 1 D2 F2H R —F A SR —F A A
N R w3t R WE | WK | W= | A
1 WFH ] EXELES 6 1 6 3 2 027500 1 A
2 | R BN | BRAIES 1 6 Ols 4 11 |tans| 2
3 IR R = FIs 3 6 4 6 0 2 [0.3684 3
w3t
s| & = R = e mE | B | BE | R o
4 # BB BR#TER 6 2 6 5 2 0126316 | 1 7%
3 3 MRS

5 | HEF M | ANERS 2 6 ® i 6 o 2]o200] 3
6 | wE EAH | KIE 5 6 6 1 11 ietn ] 2 %

64
c|l & & R i =8 T | WK | BE |

1%k f{on W =

7| %R & DEEE 0 6 3 6 0 202000 3 x5
8 | XB AE Hach 6 0 6 3 2028000 | 1
9 | T A— | EAIXS 6 3 3 6 1 1]15000| 2
D K £ g [RE LA %H BEER | BEE | IR
0] Rm BA | BAIXR 3 6] |®l3 6 0 203333 | 3 LA
1| TE #R | KEXES 6 3 6 4 2 026316 1
12| RE BAE |  RHF 6 3 4 6 1 1 |15263]| o2 =

64
E K £ g =K A FEEFE BERR | BEE | JEGL
13| = AL BoER 6 0 6 3 2 028000 | 1 =%
14| BK  RYP | REIRE 0 6 ®ly 0 2o1420| 3
15 | R FAH Fim 3 6 6 2 1 11524 2 53]

_ " P 76(3)

F K £ g M ] FE BEER | BEE | IR
16| NI BA | EXEESE 16 5 6 0 2003333 3 #
17| m R HKFE 6 1 6 1 2 028571 | 1
8| TR X | BATER 6 5 16 1 1 (13889 | 2 i3
o] B = R B e ag | mE | mE | B oz
19| BX Rk | /\RIXS 0 6 Ols 11 |14615| 2 L
20 | AW KK REeh 6 0 6 1 2 0029231 | 1
21| AR Bt BAIES 1 s 1 6 0 2]01429| 3

L i

63



BFBISA

SFI3E1A308

Fi®)—JH 65 —LER/—TF KEr—F AL 12V TYF /—FK 1R QF SF F
F3EY— 5 D2ALIF2I P —F AR, AR —F AU IA
A K £ 7B A A =H BRRSC | BREE | IEAL
1 BE % RBXED O| 6 o| 6 2 2 0 |##mm| 1 A
2 A A BEH ® o0 6 5 6 0 2 |#| 3
3 | BH WK EATIXS @) ¢ ols 5] ) BA
B K % 7B (A% KA il BB | BE | IBAL 61
4 | WA FKE | TEAES Ols 2] 6 0| |2 ofsmmme| 1 | w&
5 KK BE HEXELE |@| 2 6 6 0 11 [#eHee) 2
6 | N EE REAES |@|o oo & 0 2| 3 e
cl & P T B P HE L e | B | IS 62
7 A A HEXELEE O| 6 5| 6 2 2 0 |#uaHt| 1 A
3 HHE B FiE ® 5 ¢ 6 0 R ) Bx
9 | WH  F3 BATXS @], 6 oo ] 0 2 |#emme| 3 60
D K % R BX Ho Bl AR | B | IBfE
10 IS i3E I\NRI%S O| 6 1 | 5 6 11 (s 2 g
11 HA A5 i ® 1 & 4 6 0 2 |#m#| 3
12 | B K% EXEEE |O|s 5 Ole 4] 2 0 |#um| 1
B
E K £ 7B TH mA il RSRSC| BEE | IR 75
13| FTH RKE I\RI%S Ol 4] 6 3 2 0 |#umm| 1 TH
14 | &K Bth |k @4 & 6 2 R )
5| P mE | EATIES |@]s o] |®]2 o] 0 2 |summ| 3 e
64
F K % il BR /MR £33 RERK | BSE | JEfE
16 | BB ik BAIES O| 6 z| 4 6 11 || 2 ik BA
17 | ME BEAE FIH ® 2 5 3 6 0 2 |#mumy| 3 61
18 | ®EE Bk | TURMEEHS (O] 4 O| 6 3| 2 0 |#| 1
G K £ 7B Hp Hp T SRS | B | IR
19 | B MR I\RIES ols 1] 6 0 2 0 |#mmr| 1 B+
20 | HH =% AEH @1 & 6 5 11 | wae| 2
21 T B3 BEAIES ®lo 5 .| 5 6| 0 2 |#uwme| 3 FRIK
64
vl & - 7 B I FRE B | B | BE | IEE
22 | LA ] BATXS o[, 3 6 0 2 |#mmr| 3
23 | R BA Hach Ole 2 6 2 2 0lmmm| 1 | FREK RRE
o4 | RFH  HEHL A\KI%X® |O|s 3 o[, ] 11 [swmm| 2 61
| = 2 % R i /NE TEO | B | BE | e
METEE 5 ole 2] 6 1| |2 olsww| 1 | ww
26 | MNE 7N taeh [ AW 6 4 11 | wae| 2
27 | CIEO &3 BAI%(S |@ 0| 4 e| 0 2 || 3
FRIR
J K £ B ) B Jfl]= RS | B | IEfE 62
28 | %H L s O| 6 5| 2 6 R ) ne
29 | HH =] FiE Q|5 4 6 0 2 |#H#| 3
30 | A # FXEEEH | O Ole 4] 2 0 |wumm| 1 Ul
76(7)
k]| & 2 ¥ R Wi B mR | B | BE | IRk
s | WA RE | RIES Ol 4] 5 6| |1 1]is2a] 2
3 | BE =RE ERELE (@] 4 6 3 1o1]1526 ] 1 &F
33 | 1% & FrEE  |Ols 5 o[ ] 1 1]1450| 3 64
L K % w B &F IEH fee SRR | BB | IRfL
34 | &#F 2 EXEEE ole o] 6 0 2 0lnwmr| 1 | &F
35 Iz ) &ikH ®|o &6 6 0 11 || 2
36 | = 20 BATXS |@|0 6 oo 0 2 |#ewsm| 3




BFEXF—U3R

SF3E1A308

FRU—TH 65 —LER/—TF KB —FAS 1EVRRYF /—TR 1R SF F
FRY— 5 DA F2T P —F A b BRI IEIFR—F A b

A K £ & il =E 310 e MR (| JEfL
1 ] AR BRAIES o| 6 1 | 6 3 6 1 3 0f3m8| 1 ]
2 =2 B&th Bish 16 2 6 2 6 0 3|o22| 4
3 E310] X Ha 3 6 6 2 6 5 2 1254 2
4 I BE BRAIES 16 6 2 ®|5 6 1 2|146| 3
B & 5 % B T -3 i BEE | BEE | IEM il
5 | ®T il FRATXR O| 6 0 | 6 1 2 0] 2.9231 1 HiT ”
o | EH ok 8% 0 6 5 6 0 2] 02941 3
; | B BR i 16 O| 6 5 | 11113889 | 2 i
c & % 5 R EAll] JIE3 PN} BEER | BEE | IEGL 63

A eIk ki O| 6 4 | 16 1 1] 14118 | 2 KE
o | mE Bt RALRS 4 6 3 6 0 2|o03684 | 3
0] AE B il 6 1 O| 6 3 | 2 027500 | 1 "

65
b & 5 % B i B &L BEE | BEE | IEM
n| #E 3 FiE ‘| 0 5| 16 0 2|o00769 | 3 B
12| B BE RALRE 6 0 6 5| |2 of2705 | 1
13| dl Lok 6 1 .| 5 6| 11 16111 2 H
62

E K £ & 1238 KE AH AHE BEER B IBGL
14 | & A EXEE® o| 6 o| 6 3 6 0 3 0386 1 %8
15 | Kkt BEE Bish 0 6 0 6 6 0 1 2133 3
16 | ZAH RE BAIXS 3 6 6 0 O|6 o 2 121t 2
17| BA& & AN ad:S 0 6 0 6 o| 0 6 | 0 3[oo0| 4 1TERIE




%%AOEX RIb—F AL ey —Lsm/—TR

A 21| 2 |FE BN BRIES T

B 2fz| 6 |#M@ ®mAm sk - 63

C 24| 9 | T k—|mATES 65 -k
D 2 fi| 12 |EH #Aml =ER¥Fh EE 62
E 24| 15 |EME X8| FI5 wo =k

F 2| 18 |FR k| BAIES - o1

G 21%| 19 |EA k| \RIZS 65

% ?A757( 3fFLb—F A 645 —LER/—TF

A 3| 3 |kE £&| Fim R

B 3fi| 5 |#EE Ak AMERS . o4

C 3fr| 7 |mE BE| pohgs 65 -
D 3fz| 10 |FEE BA|fEATES - 63
E 3fL| 14 |fA Ei| AIZS 62 -

Fose| 16 |/l BA| EXEES TR

G 3fL| 21 | AR BE| mAIES 62

%?E‘¥T—75Z 2GLb—F AT 64 —LKE/—T7K

A 24| 3 |#HFL EEX i 11
" N 65
C 24| 8 |dt)l wE| a®® 62 ;?'3—
D 2fi]| 13 |&IU EN &EH A
E 24| 16 |ZBA FE| BAIES

%?tﬂFT—O%Z MPIh—F AL eF—L%kER/—TF

A 3| 4 |RH BE|mRAIZS st

B afi| 6 |f£@ #Ek| AFD 62

B4 I
CoafL| 9 |JIE M| mEATER . o
D 3fz| 11 |[#E ESH| FtB 63 I

E 34L| 15 |kt #HEE| &®d KL 62

A 4fi| 2 |BAE EH| Ans 63




m O O W >»

m

I o

5

FBYSR

2RLb—F Ak

67 — LK/ —TF

2 fir BE B | BAIES ok

2f | 5 | kA BE|EAELE ok 62

2t | 8 | mE EBE| FiE 62 .
2 | 10| BEA HE | \RILZS 62
205 | 14| BA B | aFdD - ER

21 | 16 | BR HRE | BAIES o4

247 (20| B 2B | &EH AE

241 | 24 | AB WAL | RIS o NE

2 | 26 | MNE &K | ek 63

2fi |28 | @ # | A% - RE
24 | 31| WA FE | ARIZS 62 L

247 | 35| IBA &Ewth | AEFH

SBRLb—F A

67 — LK/ —TF

3fL| 2 | AR BK| &FF .
36| 6 | Il BE | FHEXESR " 65

3B | 9 | WE I |BAIES 63 i
34| 11| A Ak | g 63

34| 15| Bl BRRR | BRI XS ol ggu

34|17 | /ME EAR| FiE 64

36| 21| T =4 | BEAIES L

3fL 22| LA © |BEAIES 62 i

441 |27 iIBEO &3 | BEAIES 62

3|29 | HHP =EH | Fis - fﬁzt
3G |33 |BR B | FaRS 63 fﬁ?&

3L (36| B BE|EBRKIXS

INE]

BE

64



TFAVSA

2RE1EIYNIYF(/—TF) SHMIFE1A31A
A K E4 g TH sk B LS H#EH PR [msae( B
1 TH ES EXEEE @8 9 1 8 2 8 0 3|o031| 4
2 XkH R&HE JuIH E R 9 8 1 8 2 8 1 2[133] 3
3 (g 2 E ] HkEH 8 1 8 1 8 4 3 0380 1
4 -1 R & KJIH O|8 2 O|8 2 @4 8 2 1]263] 2
TFBIFR FRU—TB 7 LER/~TE  ABA—FAE TEIFTIF J—TF
A K % g 24 A F HF 5 BB | M| A
1 % RRTE RBRAIERS O|6 4 6 4 ® 2 6 2 1250 2 A
2 | BEFE  KE TR+ 4 6 2 6 @1 6 0 3|o2s| 4
3 HPF =& e 4 6 6 2 @1 6 1 2|144| 3 .
4 & RO aEh o6 2 Ofe6 1 O|6 1 3 0|382] 1 60
B K e g =i AH Kl BEER | BEE | EfL
S o Ed
5 =g K L &R eh (@) 6 2 ) 6 PR P X
e F)] V. I\
6 AH =M fEnfraep () ) 6 - 0 2 |smss| 3
! A ki thokEH 6 2 0 6 3 2 0 |#st| 1
c K EA g Aa #5H bus RSB | 5= | NEfL
5 He = -
8 | AF R ALRE OCle 3 4 6 11 |#aees| 2 i
=N 7 \
s | ®E e B 3 6 2 6 0 2 |#wwms| 3
10 & hE FLE 6 4 © 6 2 2 0 |#ut| 1 =i
Al AY [er] —+ =2 L 76(7)
D K i [/AV:N EH =i BEER | MR | EfL
7AY = I ==
(RN I /¥ = BAIXS (@) 6 3 3 6 P (N =i
2| BE = il ®ls 0 6 0 2 |#mmns| 3
=+ BEIX B a
13 |:u$ m/a R.j(BﬁEq] 6 3 O 6 0 2 0 ##### 1
- —
t:]"t -¥T—77X LHA1EYRTYF (J—TF)
A K e i BA HE =% An FEE | Rek| |
1 BA  HER EBATES 36 06 63 06 3
2 #E ke aEH 63 36 61 06 -
= §3 =+ A:Q:‘
3 =% K &t 60 63 61 62 40 1
4 b=E LA &EH 36 16 16 06 04
5 EH ti# &EH 60 60 26 60 3 )

A

63



[ SMIE1/3IA
l]\%ﬂE%% FRI—TY 65— LER/—TE REr—FAUb 1RYMRYF J—TR 1R SF F

BB — 5 D2 2l b AU b, FRA I F— A A
A K % iz &R Ein]=:| @ ARt BB | B | IS
1| R TN ol[s o] [o]s o] [o]s o] [s ofew| 1] 4=
2 B RIAER FERERD ®|0 6 Of6 o0 @3 6 1 2[143] 3
3 E Bx KEE/N ®(0 6 ®(0 6 @0 6 0 3|ooo| 4
4 AF KiF [ERE/N ®|0 6 Of6 3 O| 6 o| 2 1[257| 2 33
kB2 60
B K 2, 7 B ARt EH AH BEER | BB | B
5| A BE RTE O| 6 o| Ole of |2 ol il
o | AEm  m# @EN o, . oo ol lo 2|emmel s
L il ®o 6 O| 6 o| 1t || 2 &R
60
c & 2 R na #E T BRR | BEE | IEAL
s | no & AR ols o] [0]s ol [z olssss na
9 FE 20k A&/ |, ; |, 0 2 || 3
10 | WF fax KT/ o, ¢ O| 6 5 | 11 | spna| 2 ne
75
o | & & 5 m A *E BH | MR | BE | R
"] WK RXH EEN O| 6 o| Ols 3 2 0 |nmne| 1 R
12| #*@ E i ® o 6 ® 0 2 |wems| 3
13| &\ @O mazmh o], | o], ] S P R
62
E] = 5 B - am wE | B BE| R
| ® #z RyEM O| 6 1 | Ols s 2 0 || 1 &
15 | 2@ (- [oed =N o, 5 o, 0 2 |umuns| 3
6| #m ms | mxwme o] | [o], ] o ] 2 #
63
Fl & & 5 & s A =R | B BE | R
7 e & il O| 6 0 | ®, 5 11 || HE
18 | SEH [ES [l =N o, ¢ o, ¢ 0 2 || 3
D wkmr  [o], .| o], L] 2 0| smme| 1 %
| & & 5 & W wF RE | B BE | Rk 0
0| wm  wx AL ole ol [0l6 1] 2 olessssl + | wm
21 | WF RKE R ® o6 ol R 0 2 |wams| 3
A e o | lo]s o] N P e
W] & & 5 & e A RE | B BE | Ak 0
R R ols ol [0l6 ol [2 olessssl + | 6n
24 | BHE EES [l =N o, ¢ |, ¢ 0 2 || 3
E AR o, | lo]s s N P
INEELF FRU—JH 05— LRBR/—TE  ABR—FAk 1EIbTIF T
FiB)— D2 2B b —F A b SELARLIEIRL b —F A b~
A K £ Ei= R L& Tk =8 BR[| R f
1 R BER s/ O| 6 3| ®|3 6 Of6 4 2 1 |254| 2 INB LT AEEESMOS. — PR
2 | &K BE KN NER o1 6| |@3 6| [0 afos|4 DEHEDEELE
3 Ik =52 REXHRED Of6 3 Of6 1 O|6 2 3 0(375| 1
4 =E YA REE/D @4 6 Oo|6 3 o| 2 6| 1 2[144] 3
B K S Ei= HH &H AfRE ik R BA | B IEfe
5 HEH Bt BR/AN O| 6 o| Of6 1 O|6 3 3 0382 1
6 &H £ FERREUN @ 0 6 ®(2 6 o1 6 0 3014 4
7| AREH ER KB ®|1 6 Of6 2 O|6 0 2 1[262] 2
8 ik DE piid ==\ ®| 3 6 o|6 1 o| 0 6| 1 2[4 3
c| & = 5 m " A FE | B | BE | B
o i R BRI O| 6 2 | ® 4 110155 | 1
10| BE BRD FERRR ®, s Ole 4 1 1]1444| 3
L i T A Ole 4 .| 4 6 | 1 1]1s500] 2




INBELZF

RB)—T

& P 5 B Ik M ] SRR | B3R | IEGL
s | Im =Em HEAHIE N o | 6 ol |1 1lisal o
5 | @ B L 6 5 6 3 2 0[2600] 1
9 [l B [0 4 6 .| 3 e| 0 2038 | 3
L N
2{1')—%
c| g 5 5 B L ARE *m e | = | R
1| H®L BER HIHRE/N O| 6 4| 7.5 2 0[2501 | 1
7| AMRE HR MIKE 4 6 5 6 0 20429 3
1| *m@ He FNN 5 7 O| 6 5| 1o1]1478| 2




']‘3255%% 2L b—F AU 65— rsm—7r

A 2 4L 4 A¥ K| BRAEN :lL
B 2fz| 7 |Am ®mA| @muun 60 _—
C 211 10 WF EX KT/ :ILGZ
D 2z | 13 |BEH# BL| BEEEM 62 -
E 241 16 | BB E | ERXHEND :lﬂmi 64
Foof| 17 | MR #E| Sl 62 -
G 211 22 | A8 JEER =N :lWLM
Ho2fi | 25 | k& (68|  #kon 60

L
INBEBF 3Rh—F AUk er—nsm—7r
A 34| 2 |FIE Al FERERD Lk
costr| o |ME mE| ammML e
D 36| 12 |ABA [E LATIDN A ‘
E 3fz| 15 |2@ H%| mrEAN 63 AE
F 342 | 18 |EHE BEHR| ®mErED» SE@

o i 5 75
G 36| 21 | IUT BEAER KL/ FE AL
H 34z | 24 |BE #&| msEM - 65
A 4afz| 6 |HEE BEE| REN 63

L )

d‘%ﬂit? Lb—F A 64— L%kE/—TF
A 34 4 | RE smH| EEAND R
B 3 {1 6 gl E FERRE/N :IL%
C 3fu | 10 | K&E BER| TR/ 63 gﬁi—
D 3fr | 2 |ak mE|  mA —
A 4fi| 8 |&E 0| AN 61

t; 595 4 b —F A 64— LEI/—TK
A 2 1| % BATE|  EAIES
B 2 fif 5 |mE B BRI

cC 2 fi 8 | AR Rk BRAIES :‘L
D 2 fi 1| A B | BAIES 63

N

18
63

Gz 5

t;Baaz Sfrh—F Ak 65— I SE B/ — T

A 3 fi 3 | #HF HE fEfinch

HE
63

B 3 fif 6 |AB =T R :IL
c 3 o |mE BE g 63 HE

D 3 fi 12 | AR =E mEp s
=H
A4 2 (MBS R | FasmES wo




